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Department of Civil Engineering, Graduate School,

Chulalongkorn University

GENERAL-HOTEL DATA SURVEY

Hotel's name

Address
Opening Date Land area (rai):

By (date . _ / /. )
Data

1. Hotel room

Tot. Number of jhotel rooms (rooms).

Tot. area of hotel room‘(mz)

Capacity of hotel guests (persons)

Now' (persons or 7%)

Number of the standard twin-beded rooms (rooms) ______

Tariff (baht)

Salary of hotel employee for bachelor (baht per month)___




WUVAsUnMY 9.1

115
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2. Restaurant

Tot. number of restaurants (rooms)

Name:

3. Conference & Banqueting

2.1
2,2
2.3
2.4

2.5

Lunch rate

Lunch

Lunch

Lunch

Lunch

rate (baht per person)

rate (baht per person)

(baht per person)

vate (baht per person)___

tate (baht per person)____

Tot. number of .¢onference & bandueting rooms

Name:

4, Shop

Tot. number of shops (rooms)

Name:

3.1
3.2
3.3
3.4

3.5

4.1
4.2
4.3
4.4

4.5

5. Car Parking

Tot. number of car parkings (units)

No.

5.1

.
b4

ve

kind of goods

kind

kind

kind

kind

Capacity (Vehicles)

5.2 Capacity (Vehicles)

5.3 Capacity (Vehicles)

of '‘goods
of goods
of goods

of goods

Area (m2)

Area (m2)______

Area (mz)
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6. Service Car

Number of Taxies (vehicles)

Capacity (pers./veh.)

Number of Tour. Coaches(vehicles)

Capacity (pers. /veh

7. Recreational faciliti

7.1
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Department of Civil Engineering, Graduate School,

Chulalongkorn University

VEHIGLE .OCCUPANCY SURVEY

Hotel's name

By (date . /o _ /)

Vehicle occupancy (persons per vehicle),

Time Mode of travel and Hotel's activity

Remark
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Department of Civil Engineering, Graduate School,

Chulalongkorn University

Hotel's name

Tot. number of hotel employees (persons)

HOTEL EMPLOYEE SURVEY

By ' (date_/_;_/__)

Type of hotel employee No.
Tot. number of hotel employees (persons)

Working period (o'clock)

Mode of Travel

1. Privater¢ar | sNumber jof, hotel-employees (persons)____ or (7%)_
2. Bus Number of hotel employees (persons)___ or (%)
3. Motoréycle Number ©f hoted (employee's ((persensh.t  or (%)_
4, Walk Number of hotel. employees (persomns) ___ ox; (%)

5. Others: Number of hotel employees (persomns)___ or (Z%)_
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Type of hotel employee No.

Tot. number of hotel employees (persons)

Working period (o'clock)

Mode of Travel
1. Private car Number of hotel employees (persons)___or (7%)__
2., Bus Number of hotel employees (persons) or (%) —
3. Motorcycle Numbexr of hotel employees (persons)___ or (2}..
4, Walk Numbet of hotel employees (persons)___ or (%) —
5. Others: Numbeyu of hotel employees (persons)___ of (%) -

Type of hotel employee No.

Tot. number of hotel employees (persons)

Working period (o'cloek)

Mode of Travel
1. Private/ecar | Number of hotel “employees (persons) or (%)__
2, Bus Number of hotel employees (persons)___ or (%) __
3. Motorcycle / “Number! of hotel employees (persons).__ or (%)—
4, Walk Number of hotel employees (persons)_—. or (%)
5. Others: Number of hotel employees (persons)___ or (%)_f
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Department of Civil Engineering, Graduate School,

Chulalongkorn Uniwversity

TRAVEL SURVEY

We are studying how visitors to Bangkok travel in order

to improve the facilitdes' concerned. Please spare some of your

time and kindly complete the quéstionaire then return it to the

front desk. THANK YOU IN ADVANCE FOR YOUR KIND COOPERATION.

1)

2)

3)
4)

5)

Hotel's name Date ./ /

Main purpose of your visit E:]Business, [J Vacation
[J others (state):

How many persons, accompanied you?

Length of your stay
How do you travel from thel airport tojthe hotel?
(] Airport Limousine (] Hotel's car

[ Airport mini-bus (] Taxi

(] private car ] others (state):
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6) Questions about the trips you made yesterday.

Note: Mode of Travel

1. Tour Coach 4, Public bus
2. Taxi or car own hired 5. Walking
3. Limousine 6. Others
When yéu leave the hotel: Did you return to the hotel?
No. | What mode do you.eravel? [ ] Ne. ©Please, Stop.
(Yesterday ondy) [ ] Yes. Please, continue
below.
Time Mode of Travel Time Mode of Travel
10 20730 «Ld 103 200 333 &1
1 —_— , ey
s 6 577 6
10 203 30 &Cd 1 200 30 43
2 | 17
s 6 sC3L6
100 200 30 40Od 10 23 30 &
3 | — -_
51 6 5(C ] 6.
10 2E]Ls @ sl 1020 31 40
4 —_ —_— .
151 6 sC 1 6
1 20 300 &3 10020 30 40
5 | _
450 6 51 6
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Department of Civil Engineering, Graduate School,

Chulalongkorn University

RESTAURANT AND SHOP“SURVEY

Hotel's name : : -

By (date___ /___ [/ ___)

Activity: [_] Restaurant (7] shep Name No.

Area (mz)

Service time (o'clock)

Most service period ~{6'clock)

Avg. number of customers (persons per most service period)

Avg. number of hotel guests (persoﬁs per most service period)_.

No.

Activity: | [] Restaurant £ )'shop Name

Area (mz)

Service time (o'clock)

Most service period (o'clock)

Avg. number of customers (persons per most service period)

Avg. number of hotel guests (persons per most service period)__
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Department of Civil Engineering, Graduate School,

Chulalongkorn University
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CONFERENCE - BANQUETING AND DISCOTHEQUE = HEALTH CLUB SURVEY

Hotel's name

By (date /. /__ )

Activity: [ Conference - Banqueting Name No.

No.

] piscotheque, {C] Health=club Name

Area (m2)

Service time (o'clock)

Service price (baht per person)_

Most service period (o'clock)

Capacity (persons)

Max. guest (persons ‘per most service period)

Number of hotel guests (persons per most service period)
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Car

Bus

Mini-bus
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Motorcycle
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owned wvehicle

non-owned vehicle
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eofis 02,09 L Funu

pasds s Lanfans sHPDITE NS I
Employee

Hotel guest

Restaurant

Shop

Conferencel & Bamgueting
Discotheque

Health-club

Others
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107 cppetsttsrataandatnatassbisanindsesaty
207 an 133
300 Lttt Vshicle Doccussncy Frograe 8.
TR YRR R R R R R RN RN RA RS2 R SRR
L3y
76 SIM HGIN(F00) MGDE{700), DEN(T00),OCF(700) NP (6)
30 DIN ACT(700}, TIN(20C) NDOUT(700),TOUT(700), ENDEX(700)
S0 DIM AVGCPIEY NAMACT(S),HCYH(E)  NOCPLB) HACTLE)

100 DIE HRIK(700) HEQUT (700} (RININ(TO0) (MINDUT(700)
150 DIM NHE(E) MRIM(E) ,DTHR(700),DTMINETO0) (AVHIN(S)
120 LFRINT TAB{Z0),"vehicle Dccupancy Result®

130 INFUT “dotel’s Maze iNNAMES

146 INFUT “Doserved Date °;DATESS

{20 LPEINT *  °

150 LPRINT * ®

170 LPRINT “Hotel’z Nape :°.NMAMES

180 LPRINT *Opserved Date :",DATESS

190 INFUT *No. of Data “:HD

200 FRR I=1 TO NO

210 READ NGIN(I) , MODE(I),CUN{T) OCPOT) AT (HRINCIY MINIMEL) (HOOUTLE) (HRQUT(D)
JINUTLD

320 HEXT

230 INPUT “"Obearvad Time®;OBTS

250 LFRINT "Doeerved Time :°,0BTS

acy
iy

2560 *Test Licensza Na.

370

ZEOFOR I =1 TONO

20F0R I =1 TONO

300 IF HEIM(II{GHOOUT(JY THEN 470
10 IF HROUTHJ) > HRIN(I) THEN 400
170 IF HRCUT()) = HRIN(IY THEN 240
336 6270 370

T30 DIMINGDY = MINGUTG3} - MININ(D)
130 IF DINIR(I} <= O THEN(37D

360 S0TC 440

70 DTHR(IY = O

IG0 BTHINGDY = 9

130 607D 470 -

300 OTHIN(DY = HIROUT(JL - MIKINGD)
410 IF DIMINCD) > O] THEN[ 480

470 HROUTLYY) = HEOUTID) - !
430 MINDUT(J) = HMINQUTWI) + 60

40 FTHR(IY .2 BROUT(]) < HRIN(D)
450 DIMIN(I) = WINDUTE3)0< RIKIR(D)
450 INGEX(I) = 1
479 NEXT 4
450 NEXT I

460 1 ¢ Index ror Mooee ¢1-5)

o0 ! =11 tar

€19 1=721: Bus

200 I =3 Minous
S 1=y Caalor
SR =5 Mororcvele
50

560 *J : Index for Activities {1-B)
570 ° J =1 : Eapioyee

80 J = 7 1 Hotel guest

U J = 3 : Restaurant

[P0 pu



Ca00

J =4 Choo
i1 ) = £ ; {onference & banqueeting
b0 ? J = & & Dizcotheque
s ) = 7 : Healthclub
&40 ° J = 5 : Others

3507

s£0 7K 3 Ingex for Ho. of Data
370°

G0 FOR 1 =176 5

£30 IHFUT *Mode of Travel":MODES
700 LERINT "Hege of Travel:®. HODES
Tk LPEIRT * ° ,

720 LERINT "Activity Occupancy Vehicle Avg.Venhicle Dccupancy
“arking Time"

730 LERINT * {Perzons)  (veh.) {FersonsiVeh.)

{hin,}"

4O FOR J = L TC &

BN =0

750 INFUT °Dataz File Hame®:P¢

770 OFER “0°,1.P%

760 NOMH(D) =0

750 HACTI = 0

800 NHR{J) = O

240 NBINGIY = O

820 AVHMINGI) = 0

330 NOCPUJY = 0

840 AVOLPLN) = 0

350 NP(J) = 0

Bad FOR ¥ = 1 TO HC

379 IF MDDE(K) = T THEM 890

ged GOTC 1020

390 IF &CT(K) = J THEN 910

opn GOTH 10z

10 ho= N+l

2 PRINT HLOCF KD

230 FRINT §1.0CF(K)

640 IF OHNIE)Y <> § THEM.Z80
HOMN (D) = HOWN(3)+ d

050 NHE(DY = HAR{J) + DTHRIK)

=70 WHIHEd) = HMINGD)Y + DTHINIK)
oe) HOCPdY = NOCE(J) +CCP(KY

370 RaCTid) = HACTHd) 1+ 1

1000 IF IHDEY(X) (o1 THER 1020
1010 RELIY = NR(J) 41

1620 HEXTK

1030 FRINT "nos of KFGH) S°.NF (1) HRECD) REINGDD
1940 IF NELJ: =0 THENT1080
1050 NRIRLDY = pDINHR I} + RMINED)
1060 GUMIHGD: = RAIN{I) SHF L)

.....

1950 RUnINL) =
1690 IF HaCTL))
1100 aVOtF{d} =
111e 6670 1130

0
= 0 THEH 11720
MOTE {3V /NACT ()

Dun Venicle Avg.

{Veh.)

1120 RVOCFQI) = 0
14Z0 LFRINT UEINE * 4 i858 1111 I3
ShEHE o 3 ONOCF (31 MACT LY (AUDCR QD) HORREZ) VRVRINGD)

1149 fLOSE
H TS B
1150 HEXT !
1170 ERD

t 3311

130
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o BRiE
0 ? SRALBTRIBRRRRBINRITLIRRIITRLIbIRSIILNSARLLIYS
0’
70 BIN OCFISOC) JFF(S00),JF(S00) ,CLALT(S00), YBAR(S00)
30 LPRINT TAB(1S),"Mean Vehicle Dccupsney Result®
o0 LPRINT * ¢
100 LFRINT = *
110 IHPUT "Hotel’s Name ":iNMARMES
120 IMPUT *Dzcerved DLate ":DRTESS
120 INFUT *Cpzerved Tiae ";0BTS
130 INFUT *Mode of Travel":HODES
150 THFUT *Activity :*iAh(T$
150 LFRINT *Hotel’s Name :* MNANES
170 LFRINT *Obsarves Date :“,DATESE
189 LPEINT *Doserves Time @, 0BT

_ 160 LFRINT "node of travel:® MOPES
o0 | PRINT “hotivity $"AZTS
240 LFRINT ~ °*
220 LPRIMT ¢
270 INPUT *Name of Fila®:F$

QFel *it 1,Fs

Z€Q0 IHFUT *No. af Data *:h0

2560
T
230
2eh

T
S

foF 1=t 70 ND

INFLT #1,GERLD)

eXT

INFUT “No. of Frequency Interval®;INTER
INFYT “Range of Frequency®:RANGE

310 INPUT “Firet Lavel of Frequency Interval®tCLALT(4)
) FOR L = 1 TD IRTER

I JFILY = 0

49 NEXT L

ITHFOR L = 2 TD INTER

I35 CLALTILY = CLALT(L-1) 4 RANGE

ITOONEAT L

TG FOR T =1 TDNO

0 IF (OCPLIY-CLALTUKY) (= O THEN 430
N £ 3]

20 BOTE 400

G OIF(E=11 = JFUE-104]

) NEXT

430 i = INTER =)
a0 FGR T =0, T0 i

470 QRARLTY A SHICLALTAN CLALT(I+F )

4E0 JFFITY =)CiTaiLBAST)

370 KEXT ’

ey 107FG = @

Swsum = 0

e CEL 1= TOONG

T700Zum o= Sum o+ JFRLD

sl TR = 1OTFS ¢ JFUD)

ITa DT

€27 SIANY = SUMJICTFG

I LfEINT “erx V2 §--upsncy Intervs! Freguency (F) Mic-point M)
e

CLoLRRINT ¢ ipzrz. . veh.) (perz../ven.!
cen e

(3
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00 K = INTER - 1
510 FOR I=1 1O A
520 LERINT CLALT(D) CLALT(I+1}, JF (1), XBARLI} JFF(I)
530 NEAT 1 :

840 LFRINT = ®

450 LFRINT *Totsl Frequency is5°,107F0

54D LFRINT “esn of Yehicle Ozcupancy =", MEANY.

£70 END

- AuEINENIngIns
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A.4)

10 *
20
30
20
50 *

80 nOBS = 30 : '3 7 Max, no. of opeervation/variaples
20 XOVAE = 11 ¢ ' Max. ng. of variables

100 DIm LNOVAR,NOBS!.WT(NOES) . HSUR(NGVAR! . WAEAN {NOVAR)

110 BI® KNOVAR,NOVAR).SIGMA(ROVAR) . B INOVAR) . 5B (NDVAR)

120 DIm vMAnE (NOVAR) . TSS(33). 1 1N085)

130FOR 1= 1 70 33

140 READ T95¢!

15¢ NEXT I

160 BATA 17,706, 4.303. 3.18%2, 2,776, 2.571. 2,447, 02,383

170 BATA 2,305, 2,262, 2,278, 2,200, 20179 2,160, 20143

180 DATA Z.131, 2,130, 2,119, Z. 1010 2,093, Z.088, I.Upd

1) DATA 2,074, 2.05%,. 2.064. 2,080, Z.056, 2,032, Z.048

200 DATA 2.045. 2,042, Z,0200°2.00C, 40%e0

210 PRINT TABtS! * rultiple L.Steowsse Regrecs:an Frooranm -
220 PRINT TABS) * . "
230 FOR 1 = 1 T NuBS * 2Bssume URiform WEIQRLING
240 W7D = 3¢

250 NEAT 1 .

260 PRINT : INPUT “List oroorasm motions fvinf®s ¥§

270 IF Y8 <> "v>  THEN 300

2E0 pOSUB 3790

290 607D 300

300 PRINT :PRINT

310 In°uT *How enter gata - kevboarG or gisk tk/o)"s KE

320 1F (KE (> “k*) AND K§ <o “g*) THEE PEINT “lavalid" : &OT0 310
330 IF K3 = *&*  THEN 369

340 BDSUB 32

356 5070 710 -

360 CRINT ¢ INPUT *Enter naae cf dependent var:aple *: TEAPS

370 BRINT @ INPUT “Enter number of i1ngependent variabies "t IV
380 IF tIv » O) AND (1Y 4 NOVARD THEN 300

300 FRINT “must be > 0 anc < “INODVYAR : 6270 370

400 ynAmE LIY+1) = TERPS

MOFBRI=LTDIV

420 PRINT “Enter nzae ofl“ingepencént variaplea s :li

820 INFUT vNANS(])

440 NEXT I

450 PRINT 3 lwpul “Foregastyreaurrecmiven) t: 'F¥

460 IF (F§ <) vUDAND(FEI L *nv) | THER PRINT (avalid® & 6OTD0430
470 IF F% =*n" THEM I4 = O : BLTO 220

480 INFUT ®no. of cericds to pe forecast”:I4 ¢ FRINT

450 PRINT °Enter no. of gata oointe for each indepengent variagie”
tap INFUT “including seints useg for ferecast *:10

510 60TY 530

520 INPUT “Cnter no. of datz pointz §or 23ch inoenpendent variable’: IO
330 LF 1D »= fIv42414) TdEH 350

S40 PRINT "Nusper of cata gpints aust pe »*:[v+Z+14:6CT0 479

350 IF 1D «= HOBS THEN 370

5.0 PRINT “Nusber of gata points acet be 4 :NOBS+1:E0TO 470
70017 = I+l r QM = 10-14

SEC PRINT : P2INT “Enteor gata”

906 FOR I = 1 10 1T

600 PRINT ¢ IF ! 1T THEW 830

TﬂsunsuﬂauﬁaLmasﬁiﬁﬁunﬁswqéunqsLéunmnau

1030840000000 00 000 0 ittt ittt sRinoseiil

1311 1233
3113 RULTIPLE & STEFWISE REGRESSIOR PROGRARM  ¥313
u 1381

ARSI INTIT IR SRR RN BRI NIINNINRIRIRNIRIININS
50 DEFDEL R.1.K.5
70 DEFINT l.J.%.L.B.N
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134
510 FRINT I :*Vaiues reauirec for dependent variable “":VNASS(IT)

620 60T 650 v
30 PRINT I6 :"VYalues regusred for incepoengent variable “tYNAmE(l)
s4¢ 15=10 '
650 IF I=IT THEN IS = IH
OO FOR J = 1 D ID
470 PRINT *value for point * :d:
289 INFUT Xt(l.J)
490 KEXT J
706 NEXT 1
710 PRINT : PRINT TAB(S) "Data management options 3
720 FRINT TAR{1D: "1-L1st gata®
730 PRINT TAB{10) *2-Correct gata”
740 PRINT TAR(1D: *3-Add to data"
750 PRINT TAR{10! *4-Add an 1ndepengent variable®
760 PRINT TAE(10: "S-Delete 3 variabple®
770 PRINT TAB{LD) *s-Perfora reoression computations?
780 FRINT TAB(10} “7-Stugv another amodel®
790 PRINT TAB{1() “8-Store data on orsk®
800 PRINT TAE(10) ®9-Reight data”
810 PRINT TAB(10) *10-Trancfers data®
32% FRINT TAB(107 "11-Buit®
830 INPUT “Cotion’siF ,
840 IF (IP < 1) OF «fP > 1) THEN PRINF %invaizg®:BOT0 710

350 IF IF = 1 THEN BOSUB 4140
860 IF IP = 2 THEN GOSUB 4340
87¢ 1F 1P = 3 THEN GOSUR 4660
880 IF IP = 4 THEN GOSUB 5080
320 iF 1P = 5 THEN BOSUE 4300
200 IF IP = & THEN 979

210 IF IF = 7 ThEN 230

920 IF 1P = 8 THEN GOSUB S180
30 IF 1P = ¢ THEN 6D5UB 5490
940 IF IP = 10 THENW GOSUB SE50
350 1€ 1F = 11 THEN FRINT TAB423)—"End-ot-Prooras—:Hawadaee’ iEND
960 80T 710

970 PRINT : PRINT TAB{(S) "Avaiiable Ootions :*

I8¢ PRINT TAB(10} "1-multiple-Rearession®

9¢¢ GRINT TAB(1Q) "2-Ctepwise Multiple Regreszion®

1000 PRINT TAB(10) “J=-Dats management [ptions"

1010 ImPul *Ootion®:IC -

1020 IF (IC < 1) Ok 30 > 3+ THEN PRINT "Invalig” @ 6OTOD 970
1030 1F 10 = 3 THEN 710

1040 C¢ = “»°
1050 IF IC =2 THEN C$ = %n°®
1060 IR =1

107¢ I4FUT "Crint solution at each iteration ty/ni®:P$

1080 IF (F$ <) “v™)AND(PS <> ®n*; THEN FRINT “Invalid®*: G070 1070
1050 IF Ps = *n* THEM IR = IR+l

1100 PRINT

111¢ INPUT “Qutout to appear at crt or printer ‘cspl*i{$
1120 1IF (0§ {> “c°}aND(O% <> "p®) THEN PRINT *lnvalid®:
1130 Xs = STRINGS B0, 45}

1140 PRINT ¢« PRINT : PRINT X$ !
1150 PRINT : PRINT

1160 1F Cs = *v® THEN 1190

1170 PRINT TAB(19) "Steowice Multiple Fegression”

1180 BOTO 1200

118¢ PRINT TAB(!0) ®RMult:ple Regression’

1200 PRINT ¢ FRINT

(e 4]
[}
]

& 1110
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1210 IF 0% = <c® THEN 1280

1220 ¥s = STRING%(75.45) :
1230 LPRINT : LPRINT : LPRINT X$ : LPRINT : LPRINT
1240 IF Cs = *v* THEN 1270

§250 LPRINT TAB(10) “Steowize Rultiple Regression®
1260 60TO 1280

1270 LPRINT TAB(10) °Multiole Rearession®

1280 F1 = 3,29 - 3 ° F-test value,var. entering
1200 €2 = 3,29 ;7 F-test value.var. leaving
1300 TOL = , 0008

1310 IES = 1

1320 ISTEP
1330 #DATA

1
0!

1340 FOR 1 = 1 T0 IH :
1350 WDATA = WDATA + WT(I) : 7 Total weichte
1360 NEXT I

1370 FOR I =1 T0 IT
1380 WSUM(I) = 0

1390 FOR J=1 TG IH : " Total werghted sua
1400 BSUMCI) = WSUM(D) + BT 0 Y(1, 00 :

1410 NEXT J

1420 NEXT I

1430 'Heiahtes Sums of Squares'ane frose Products

144 FOR 1 = 1 TO IT

1450 FOR J = 1 TO IT

1460 R{1.3) = 0!

1470 FORK =1 T0 IH

1480 R(I,2) = R(L.J) + BTUCBXN(1. KV 043, K)

1450 NEXT K

1300 NEXT J

1510 NEXT !

1220 FOR T =1 70 IT -

1530 WREANII) = WSULR(I)/HDATA } 'Heiohted aean
1540 NEXT 1

1530 '¥eronted resigual sue of couares & cropss progucts
1560 FOR I =1 7D IT

1570 FOR J =1 T0 IT

1380 R(I,J) = R(1.J1-wSUM{] THSUNL]) 7HDATA

1550 KEXT J

1600 NEXT I

1610 FOR I = 1 TO IT

1620 SIBMALD) = RUILINA.S

1630 NEXT I

1640 *Correlation coefficients

1650 FOR [o='t 7017

1660 FOR 0 =71 TOIT

1670 R(1.J) = R{I,J}/(SIEMALI)ISIGMALT})

16B0 NEXT J

1690 NEXT I

1700 FOR 1 = 2 7D IT

1710 11 = [ -1
1720 FOR 3 = { TO 11
1730 &{1.J} = RUJLDD
1740 NEXT §

1730 NEXT I

1760 PH] = ¥DATA - 1!
1770 INDEX = 1

1780 FOR & =t 10 1T
179¢ SB(J) = o

1800 B(I) = 0!

w o o0



1810 NEXT J

1820 IF (RUIT.IT)>-.O0001AND(R(IT,IT)<0} THEN RCIT,IT)=D

1830 SY = SIEMB{ITIX(R(IT.IT)/PHI)~.3 : ’ Standard error of gep, var.
1840 IF C% <> "v* THEN 2510 ‘
1850 IF ISTEF <=1 THEN 1980

1860 NN = ISTEP - 1

1870 * Rearession Coefficients

1880 FOR I = 1 TG NN

1850 B(I) = R{I.IT)$SIGMACIT}/SIGRALI} : ’ Regrescion coeff.

1200 IF R(1.1)>0 THEN 1960

1910 PRINT ¢ PRINT *Salution cannot be found using siasple sultiple®
1920 PRINT "Regression variable®:VNAMS{I):®15 a linear cosbination®

1930 PRINT ®of the other variables. Try the Stepwise regression option.”

1940 PRINT : BDTDR 970

1950 ’Std. error of regression coetf.
1960 SB{I} = SYIR(I.I)~.S/SIGMA(])
1970 NEXT |

1980 IF IR >t THEN 2300 37 skiglpring
1990 B(IT) = WHEAN(IT)
2000 NN=IT - 1

2010 FOR 1 = 1 TD NN

2020 B(IT) = B(IT} - B{I)WHMEANLE)

2030 NEXT 1

2040 *Coeff. of deteraination

2050 DETER = 1! -~ R{IT.IT)

2060 IF DETER(.00000] THEN DETER = O

2070 DEVEST = §Y

2080 IF DEVEST{. 000001 THEN DEVEST = @

2090 IF D% = “p® THEN 2220

2100 PRINT : PRINT "Regression Numbher °:ISTEP
2110 PRINT TAB(S) VNAME(IT):* = ";B(IT}

2120 FOR 1 =1 70 MmN

213¢ 1F BLI) = 0 THEN 2130

2140 PRINT * + ":B(I}:VNARE(D)

2150 HEXT 1

2160 PRINT "Coefficient of Determination = ° : DETER
2170 PRINT “Std. Deviation of Estimate = “:DEVEST
2180 IF ISTEP (> (IDSYI) THEN-Z210

2190 IF ISTEP = IT THEN 2300

2200 IDS = IDS + 1 :.PRINT . INPUT “Press enter to.continue’:Y$
2210 PRINT @ GOTO 2300

" 2220 LPRINT :LPRINT “Regression Number “:[STEP
2230 LPRINT TAB(S) VNAMS(IT):* = :B{IT)

2240 FOR I=1-T0qNN

-2250 IF B{I1)M= O THEN 2270

2260 LPRINT "ot ":B(I):VNARS(])

2270 NEXT 1

2280 LPRINT “Coefficient of Detersination = “:DETER
2290 LPRINY *Std Deviation of Estimate = °;DEVEST
2300 ISTEP = ISTER41

2310 1F C% (> *v" THEN 2440

2320 IF ISTEP ¢ IT THEN 2420

2330 IF ISTEP > 17 THEMN 2970

2340 IF 0% <> “c" THEN 2370

2350 PRINT @ PRINT *Final solution®

2380 5070 2380

2370 LPRINT @ LPRINT “Final solution®

2380 1Y = IR

230 IR =3

2400 IF T <3 “v* THEN 1990
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2810 IR = 1 1-37
2420 K = ISTEP - 1

2430 PHI = PHI - 1!

2440 IF IR > 2 THEN 2970

2450 ’Caculate new patriy

850 FOR 1 =170 1T

2470 IF T = K THEN 2520

2480 FOR ¢ = 1 TO IT

2490 IF J=K THEN 25190

2500 RU1.J} = R{L.JY-RULKIBREK 0D /RKK)
2510 NEXT J

2520 NEXT I

2530 FOR I=1 TO IT

2340 IF 1=K THEK 2570

2350 R{1.K)=-R{I.K)/R(K.K}

2360 RUK, 12=R{E, 1) /RIKK)

2570 NEXT I

2380 RIK.X)=1!/R{KK)

2590 IF C$<>"y" THEN 1770

. 2600 BOTC 1820 .

2610 1X=0

2620 VY=0!

2630 In=0

2640 Vn=93339!

2650 IF (R(INDEX.INDEX)-TOL} 0N THEN 2800
2660 1F (IMDEX#1) >= IT THEN 2690

2670 INDEX = INDEX + 1

2680 BOTD 24850

2690 IF R(IT.IT) <=0 THEN 2340

2700 IF (VMRPHI/RAIT.ITY) »>= F2 THEN 2740
210K =1In

2720 PHI =PHI + {1}

2730 60TO 1980

2740 IF RUIT.IT) {= VX THER 2770

2750 'Is variance reduction siGnificant?
2760 1F (VAIR{PHI-1 V) /(R (LT SATF-VXTT <= FT THEN 2340

2770 K = X

2780 PHI = PHI - 1!

2790 070 1980

2800 V= RUINDEX. IT)SR(IT, INDEX}/RCINDEX, INDEX)

2810 IF V=0 THEN 2460 ¢ ’0NGt 4agd (18 'equdtion
2820 IF Y0 THEN 2930 s’ Might agd toleguation
2830 ’Regression Coeff. for Variapie

2840 BCINDEX) = ROINDEX.IT)3SIGHMA(IT}/SIGMALINDEX)

2850 Varable Standard Deviation

2840 SB{INDEX) = SYSR{INDEX,INDEX}~.5/SIGHA{INDEX]

2870 ’Wnat variable causes the greatest variance reduction,and
2680 *what var:able causes the least variance increase?

2890 IF (V4VR) <=  THENM 2540

2990 vi= -y

2910 18 = INDEX

2920 60TG 2640

2930 IF (¥-VX) <{= ¢ THEN 2440

2640 Yx=v .

2950 1X=INDEX

2960 GOTO 2660

2970 1F 0% = "g* THEN 2790

2980 PRINT : INPUT *Press enter to continue”:Y$:PRINT

2090 Ik = ¥ :

3000 [I=1T-1

chk! independent

.
-

Variance sioniticant?

-
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3010 ‘Calculate estimated values for dependent variable

30206 FOR J = 1 TO IH

3030 Y(J) = BAIT)

040 FOR 1 =1 TD 11

3050 Y{J) = Y{J)+B(I}EX(1.J}

3060 NEXT 1

3070 NEXT ¢

3080 111=11-1

3020 PRINT : INPUT “"Want to see limits on oredictions ty/n) ":F$
3100 IF F§ {> *v* THEN 3310

3110 INPUT *Use program supplied t-statistics for limits (y/n)oiLs
3120 IF (L$ <> *v)ANDILS {> "n") TMEN PRINT “lnvalid®:607D 3110
3130 IF Ls = "y" THEN 3170

3140 IMPUT *Enter the t-statistic®;7

3150 6CTO 3210

3160 21§ ¢-statistic not 1n array t95 . then calculate value
3170 IF PHI > 30)  THEN 3210

J1B0 IHI = PHI+. 0004

3190 T=T95({IHD

3200 6OTO 3310

3210 IF PHI »40! THEN 3240

3220 T = T95€30) - (PHI-30!)%,0021

3230 6070 3310

3240 IF PHI >0 THEN 3270

3250 T = 195431) - (PHI-40%)¥.00105

3260 60T 3310 :

3270 IF (PHI-120') THEN 3300

3260 T= T95(32) - (PHI-60')¥.02/80

3290 60TO 3310

3300 T=7%3(33)

3310 SY5 = SIGMACIT) 23R(IT.1IT)/PHI

3320 IF 0% = “p"® THEN 3540

3330 PRINT :PRINT *Autual versuc predicted values for®.YNam$(IT)
3340 PRINT "Actual® , *Predicted" . “Ditference® . "% Difterence’
3350 1C=1

3360 FOR 3 = 1 T0 IH

3370 IF J<>(IC¥20) THEN 3400

3380 IC=1C ¢+ 1

J3S0 PRINT : INFUT *Precc enter to continue®:Y$:PRINT

3400 DIF = X(1T,4) - Y{D)

3410 IF XtIT,d) <> ¢, THEN 3440

3420 IF DIF <> ¢ THEN PDIF(= 292999}

3430 6OTO 3450

3440 PDIF = DIF/X¢{1,31%100!

3450 0BS = ALITGN

3460 PRINT OBS,Y{J},DIF PDIF

3470 NEXT

3480 IF F§ <> “v" THEN 4130

3490 PRINT ¢ INPUT "Precs enter to continue®;Y$:PRINT

3500 PRINT : PRINT “Confidence limits on predicted values®

3510 PRINT : PRINT “Degree of freedoa =":PHI;*T-statistic =":T
3520 PRINT *Lower l1m:t" , "Predicted® , °Upper hLiait®

3530 EOTO 3aED

3540 LPRINT “Actual® , "Predicted® . "difference’ , "% Difference”
3550 FOR J = 1 TO IH

3560 DIF=X1IT.J)-Y{J)

3570 IF X4IT,d14>0 THEN 3500

3560 IF DIF4>0 THEN PDIF = ©gocco!

3590 BDTD 3520

3600 0BS = {{IT.J}



3610 PDIF = DIF/X{17.J23100

3620 LPRINT OBS,YJ) DIF,PDIF

3630 NEXT J

3640 1F F§ <> "v° THEN 4130

3650 LPRINT : LPRINT “Confidence limits on predicted values®
3660 LPRINT : LPRINT "Degree of freecom =*:PHI:®T-statistic =":T
34670 LPRINT : LPRINT “Lower limit® . “Predicted” . “Upper liait®
3680 XM = IH

3690 1IC = 1

J700 FOR I = 70 1D

3710 IF 1 <> (IC¥20) THEN 3750

720 IC = IL + 1

3730 IF 0% <> ®c* THEN 3750

3740 PRINT : INPUT "Press enter to continue®:Y$:PRINI
3750 VARY=5YS/XM

3760 Y(I) = B(IT)

3770 IF 111 (= O THEN 3980

3780 FOR J =1 TO 111

3790 IF SBUJ) = 0 THEN 3B30

3800 IF (SIGMA(S) = 0!)OR(SIGHA(J} > 1E420) THEN 3B30
3810 XSB = SYS#R{J.J)/(SIAMA{1)22)

3620 607D 3840

3830 X5B = 0!

3840 Y(I) = Y(D)+BLA)XWI 1)

3850 DIF = X(J,11-WMERN(J)

3860 VARY = VARY+XSBSDIF*2

3870 XK = J41

3680 FOR X = KK T0 11

3890 IF SBIK) = 0! THEN 3940

3900 IF (SIGMA(J) = 0') OR (SIGMACJ) = 1E+20% THEN 3980
3910 IF (SIeMACK) = 0') DR (SIGMALKY = 1E+20] THEN 3940
3920 YSB= SYSHR{J,X)/1SIGMA(JIISIENA (LYY

3930 6070 3930

3o40 X5B = 9!

3950 YARY = VARY + 2 XSEXDEFRCIUK, D -RREARIKD)

3960 NEXT K

3970 NEXT

3980 IF SB{II} <= 0! THEN 4020

3960 IF (SIBMA(II} = O')OR(SIBMA(II} = 1E+Z0) THEN 4020
4000 XSB=SYS$R{Il.11)/S16MAL1]1)"2 :
4010 60TO 4030

4020 X5B=0!

4030 YD) =Y (D) +B{IDNIMILLD)

4040 VARY = VARY + YSBX{XLI1,1}-HHEAM(I1))*2

4050 SYARY =) {VARY$5YS)*.5

4080 LLM = Y{1)-SVARYST

4070 UL = Y(I)+SVARYIT

4080 IF 0% = *po* THEN 4110

40°¢ PRINT LLPm, YL}, ULM

4100 607D 4120

4110 LPRINT LLR,Y(I), ULM

4120 NEXT 1

4130 PRINT : PRINT : GOTC 970

4140 *Suproutine ; List Data

4150 INPUT "Enter name of variable igentifing data to be listed®:ID$
4150 &DSUR 4390

4170 iF IFL = O THEN 4210

41B0 INPUT *No match - Try again (y/n)"iY$

4190 IF Y$<{2°y" THEN RETURN

4200 BOTD 4150

139




7210 mm = ID . 140
4220 IF ] = 17 THEN Mt = IH

4230 PRINT *List of oata for “:VNAR$(])

4240 IC = 1

4250 FOR J =1 TO mn

4260 1F ICC>(ICH20) THEN 4230

4270 IC = € +1 _

4280 PRINT 3 INPUT "Prees enter to continue®;Y$:FRINT

4290 PRINT X{(I1,3}

4300 NEXT J

4310 PRINT & INPUT “List additional data (y/n)*;v$

4320 IF Y$ = “y® THEN 4140

4330 RETURN :

4340 *Subroutine : Correct data

4350 INPUT “*Enter variable name specifying data to be changed®:ID$
4350 bOSUB 4590 .

4370 1F IFL = O THEN 4410

4380 INPUT “"No match - Try again {y/n)":¥$

4390 IF Y8 (> “y" THEN RETURN

4400 6070 4350

4410 15=1D

4420 If 1 = IT THEN IS = IH

4430 INPUT *Do vou want to modify all data for this variable (v/ni*;¥$
4840 1F Y$ ="y" THEN 4510

4450 INFUT "Enter position of data element to be changed®:d

4460 IF (<1} DR (J>13) THENSPRINI *lavalid no.":B0TD 4450

4470 INPUT "Enter data element®s¥(I.J! N

4480 INPUT “Want to change other data for thre variyable {y/n)":Y$
4450 IF Y$ = "v* THEN 4430

4500 RETURN

4510 153.= 10

4520 IF T = IT THEN IS = IH

4530 PRINT I5."Values reguired for “;VMANE(])

4540 FOR J = 1 TO 15

4350 PRINT “Enter value for point ":J:

4560 INPUT X(I,0)

4570 NEXT J

4580 BOTD 4480 .

4590 'Subroutine ; Locate Maching VYariable Name

4600 IFL = 0

410 FOR [ =1 10 IT

4620 IF 1Ds = UNAMS {1} THEN KETURN

4630 MEXT |

440 IfFL = 1 : ' no matchifpune

44659 RETURN

4660 ’Subroutine 't Add tp Data

45670 PRINT : INPUT "Forecast required {y/n)°:F$

4680 IF (F$ <> "v*) AND (F$ 4> “n*) THEN PRINT *Invalid® :6OTO 4470
4590 IF F§ = *n* THEN I4 = 0:507T0 4710

4700 INPUT “*No. of periogs to be forecast®;14 :PRINT

4719 PEINT “Enter number cata pointe fpor each independent®

4720 INPUT *Yarizble including points used for forecast*:ia

4730 IF 1A > (1V42-14) THEN 4750

4740 PRINT “"Nuaber data points sust be »*;IV+2-[4:60TC 4710

4750 IF 1A (= NOBS THEN 11 =I441 :12 = 1A :60T0 4770

4760 PREINT *Number gata pointc pust be ¢“;NOBS +1:5070 4710

770 F0R 1 =1 T0 IT

4780 IF T = IT THEN [i=IH+1: 1Z=]&-14

4799 IF 1 <> 1T THEN 4820

4890 PRINT "Enter additional data for depencent variable °:YMANS(IT)
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4810 6DTD 4830 ’
4870 PRINT *Enter agditional data for independent variable®;VNARS(I!
4830 FOR J = 11 70 I2

4840 PRINT *Value for point ":d%

4850 INFUT X(1,d)

4860 NEXT J

4870 NEXT 1

4860 10 = [A:lB = IA-14

4890 RETURN

4900 ’Subroutine : Delete an Independent Yariable
4910 INPUT “Enter name of variable to be deleted®;ID$
4920 BOSUB 4590

4930 IF IFL = O THEN 4970

4940 INPUT *No match -Try again fy/n)*:Y$

4950 IF Y$<{>*y" THEN RETURN

4940 BDTO 4°1¢

PR70FRJ=ITOIT- 1

4980 VNAME(J) = VNAMS (J+1)

4990 FOR K = 1 T0 10

9000 Xtd, K} = X{(J+1,K)

3010 NEXT K

5020 NEXT 3

3030 Iv=1v -1

5040 1T = 1T -1

3030 RETURN

5050 * Subroutine : Ado an indepengent Yariable
5070 UNAMS (IT+1) = VHANS{IT)

S0B0 INPUT *Enter name of variable to be added?:VNANS(IT)
3090 PRINT 10:*Values required tor “3VNAMS (ET)
5100 FOR 4 = 1 TO IO

S110 X(IT+1,.0) = X{1T,. )

5120 PRINT *Value for point®:Jds

9130 INFUT XUIT )

S140 NEXT 4

150 IT = 1T +

S160 IV = IV ¢+ 1

5170 RETURN

5180 'Subroutine : Store Data’‘on Disk

5190 INPUT *Enter name of disk & file":NAMS

5200 OPEN NAME FOR OQUTPUT AS #2

3210 BRITE #3 ,IT [IH 14

5220 10 = 1D

T3 FOR 1 =1 70T

G240 MRITE #3 .. YNans(i)

5250 IF 1 =017 THEN 1D =.1H

SZe0 FOR 4 =4 T0 ID

3270 WRITE &3, Xi1,9)

5280 NEXT J

5290 NEXT I

5300 CLOSE #3

5310 RETURN

5320 ’Subroutine : Reao Data fros Disk

5330 INPUT "Enter name of disk : file"j;NANS

5330 OPEN NAMS FOR INFUT RS #2

3350 INPUT #3.1T7.1H .14

3360 16 = IH + [4

)

S w=Ir-1
3360 IF e > THEN F$ = “y*
3390 10 = 10

5400 FOR 1 =1 TG IT
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5410 INPUT #3,VNAMS (D)

5420 IF (1 = {T) THEN D = IH

5430 FOR 3 = 1 TO ID

5440 INPUT #3.Xt1,J)

5450 NEXT 4

S460 NEXT

5470 CLOSE 43

5480 RETURN

5491 ’Subroutine : Neight Data

3500 FOR 1 =1 TO IH

5510 PRINT "Enter werght for gata point*:l:

5520 INPUT RTLD)

5930 NEXT |

5540 RETURN

5550 'Subroutine : Data Transfora

5560 6OSUB 6110

5570 mm=10

5580 FOR 1 = 1 TO IT

5590 IF I=IT THEN mm=IH

5400 PRINT “Enter transtors code for variafle"sUNANMS (103
5610 INCUT TCS

5620 IF IC$ = *n* THEN 5770

5630 IF TCs = *e* THEN IK=1 ;607D 5670

5640 IF TC$ = “p* THEN IK=2 :B0T D440

5650 PRINT “Invalid code® :6070 5600

S460 INPUT *Enter value for expapent fx7n)*:EX

S670 FOR J = 1 TO MM +4? Perform transfor@s
5480 ON 1K BOTD 5490, 5750

5650 If X11,J) > O THEN 5730

5700 PRINT *Cannot take the log of @ numberi<= 0°
5710 PRINT *Value of gata element involved 1s *:X(I.d)
5720 PRINT : 6O70 5760

5720 X11,J) = LOGCX(I, )

5740 GOTD 5760

5750 X(I.J) = XtI, 0} EX

5760 NEXT

5770 NEXT 1

5780 RETURN

5760 ‘Subrputine : List Program, Options

5800 PRINT *Progras options available &*

5810 PRINT TAB(S) Pata input :"

5820 PRINT TAR(10) * K ="kevboard®

5830 PRINT TAB(10) * D = nisk file’

5840 PKINT TRH(3) Data, managesent. ;"

5850 PRINT (TAB(10) * Correction of data®

5860 PRINT TAB(10) * hod to data®

5870 PRINT TAB(10) * Deletion of variables®

S880 PRINT TAB(10) * Addition of variables®

5890 PRINT TAB(10) " Weight data®
5900 PRINT TAB(10) * Transfors data ®
5910 PRINT TAB(10) * Store data on dizk-

5020 PRINT TAB(S) * Output results :*

5930 PRINT TAR(10) ® C = crt display”

5040 PRINT TAB(10) * P = printer®

5050 PRINT TAB(S) * Computational :*

5940 FRINT TAB(10) ® Multiple regression®

5970 PRINT TAR(10) * Stepwise sultiple regression’
5980 PRINT TAR(S! * Solution results :*

5900 PRINT TAB(10) * Y = soiution at each iteratioen®
5000 FRINT TAB(10} * N = final sclution only”



6010 PRINT: INPUT
6020 PRINT TAB(D)
5030 PRINT TAB(10)
. 6080 PRINT TAB{(10}
6050 PRINT TAB(3)
4040 FRINT TABOID)
6070 PRINT TAB(10)
5080 PRINT TAB{S}
6090 PRINT TAB(10)
4100 PRINT TaB(10)
6110 PRINT TAB(S)
4120 PRINT TAB(10)
H130 PRINT TABUIO)
4140 PRINT TAB(10)
6150 RETUEN

Press enter to continue®:YS$:PRINT
Data weighting scheses :*

Unifora prograe supplied®
Non-unifors, user supplied weights”
Confidence i1mits :"

Y = progras supplied 351 t-statistic®
N = user supplied t-statistic®

Forecast horizom @

Y = forecast reguireg®

N = no forecast"®

Transtoras available :*

N = no transforas®
£ =
F = polynoaral z*n®

logix} to base e°
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pasnafl 9.1 ANNTT LAUDANDULUULAUAS I8 83NaNssuUs = Lan "wlnsu

AN T L AUDANOY R2 SEE
Person trips:
1. 11 = -54,01 + 0.25X1 - 0.09X3 0.73 27.27
(2.92) (1.0
2. 11 = -76.74 + 0.22Xl 0.63 27.73
(2#6.5)
3. 11 = 1.95 + O.OSX2 0.98 11.87
(6. 64)
4, 11 = 100.15 - 0.02X3 0.005| 45.69
(-0.15)"
Vehicle® trips:
;. 12 = -33.20 + 0.15Xl - 0.05X3 0.72 16 .94
(2:82) (-0.96)
2f 12 = =45 ¢(6—F 0.13X1 0.64 16.73
(2.59)
3. 12 = 2.21 + 0.03X2 0.98 7.42
(6,438)
4. 12 = 60.60 - 0.006X3 0.001 27.96
(=0.07)

VNI L) ©

1
aelu9 L TU L SuAngoe t-value
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ANNT T L ANDANDY

SEE

21

21

21

21

22

22

22

<
I

22

Person trips:

101.08 + 0.29 X,
(6.32)

23484 g 0.004X2
(0.77)

-62.49 + 0.88X3
(1.46)

35.88 - 1.34X4

(+2.98)

Vehicle. trips:

109.19 + 0.21X,;
(8.40)

186.48 + d.oo4x2
(2.00)

~48.00 + 0.72X,
631 Q1)

2291.00 - O.83X4
(-1.45)

0.98

0.42

0.68

0.90

0.98

0.70

0.90

0.68

18.18
87.74
65.03

36.77

9.91
33,58
25.86

46,67

VU LWE ¢

1}
Aulule L Bueneoy t-value
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" S INOMN T AL L ASDIBNY

-
AN 5 L AUDANDUUUU L AUAS I804NaNssNUs T L AN

147

AuNT T L AU DANDY R2 SEE
Person trips:
¥31 = 356.88 + 0.84X1 = O.34Xé - 1.00X3 0.89 [106.66
¢3..4386) (-2.32) (-0.52)
Y31 = 186.48+ 0.82X1 - O.33X2 0.88 92.68
(3480) (~2.62)
Y31 = -336.67 + 0.84X1 - O.34X3 0.60 ]168.78
(2.12) (~0.11)
Y31 = 994 .24 - 0.35X2 - 0.12X3 0.30 (223.29
(=1.14) (=0.03)
Y31 = =338.92 + 0.83Xl 0.60 |146.48
(2.44)
Y31 = 970,95 - 0.35X2 0.30 (193.40
(-1.33)
Y31 = 297.26 4+ 0.54X3 0.004(230.99

(0.13)

NNIULUR ©

[
aeluasLSutBumivas t-value
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éunqsléunmnauuuuLéhmsqaaqﬁansqus=Lnn

~
TUFIHINUITUREL

ASasflur (D)

iu8

ANN 5 L SUDANDY R2 SEE
Vehicle trips:
Y32 = 121.63 + 0.32X1 - 0.16X2 + O.22X3 0.88 48.92
‘(2+79) (-2.32) (0.25)
Y32 = 159.47+% 0.32X1 - 0.17X2 0.88 40.56
@3 .39) (-3.09)
Y32 = =207.15 + 0.32X1 + 0.53X3 0.53 79.33
(1 47-2) (0.37)
Y32 = 365.79 - 0.16X2 + O.56X3 0.42 88.31
: (-1.32) (0.35)
Y32 = =126.34 + 0.33X1 0.51 70.27
(2.:02)
Y32 = 470.09‘— 0.17X2 0.39 78.03
(-1.61)
Y32 = 35.96 + 0.87X3 0.06 97.08
(0.50), .

WHIY LR

. L]
a1eur4L UL Tumieas t-value
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AUNNS L AUDADOULUY LAUAT $283RanssNUS LN "sANAI"

ks 3

Bt~

A AUNI 5 L AUDANDY R2 SEE
Person trips:

1 Y41 = 181.10 O=;53X3 + 0:49X£ + O.24X5 - 0.41X.6 0.76 160.54
(-0.04) (0.09) (0.05) . (-0.06)

2 Y41 = 139.68 0.25X1 - 0.03X2 + 0.56X4 0.56 | 58.32
(-0969). (-0.38) “(l.41)

3 Y41 = 64,72 0.010X2 + 0.27X4 0.51 | 50.29
@OT14) ¢1I.43)

4 Y41 = 23.41 0.16Xl + 0.05X2 0.40 [ 55.49
(0.64) (0.62)

5 Y41 = 54,93 O.OSX1 + 0.37X3 0.38 | 56.09
(0.22) (0:.98)

6 Y41'= 104.25 - 0.15%, +0.41X, 0.54 | 48.44
(~0.50) (1.39)

7 Y41 = 13.68 O.24Xl + 0.12X5 0.45 | 53.24
(1.32y  (1.05)

8 Y41 = 50.67 O.ZOX1 + 0.003X6 0.24 {62.17
(0.96) (0.01)

9 Y41 = 51469 0.20X1 0.24 153.85
(1.11)

1G Y41 = 82:21 O.O7X2 0.26 | 53.11
(1.22)

11 Y41 = 65.58 0.42X3 0.38 | 48.81
(1.54)

12 Y41 = 68.40 0.29X4 0.50 { 43.68
(2.04)

13 Y41 = 128.21 0.09X5 0.12 | 58.05
(0.74)

VHIU LR

L]
nrutule UL Buanvas t=value
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ANNT T LAUDANDUUUUL AURS9993RaNssNUS 2 1Lan "sAuAq "

4 ANNI 5 LAUNANDY R? SEE
14 Y41 = 151,61 - 0.03X6 0.004161.80
(-0.14)
Vehicle trips:
1 Y42 = 68.47 - 0.12X3 + 0.12X4 + O.OlX5 - O.OIX6 0.32 {36.98
: (-0.02) (0.04) (0.004) (~0.002)
2 Y42 = 39.96 + 0.06X1 + 0.01X2 = O.OOO7X4 0.28 }26.86
(0v36) (0.27) (=0.004)
3 Y42 = 40,11 + 0.06X1‘+“0.01X2 0.28 |21.93
(0.61) (0.31)
4 Y42 = -46.15 + 0.09X1-—'0.04¥3 0.23 (22.61
(0.99) (=0.26)
5 Y42 = 53.76 + 0.02X1 + 0.06X4 0.26 122,20
(0.14) €O 44)
6 Y42 = 38.70 + 0.08X1 B 0.02X5 0.28 (21.86
(1:08) (0.43)
7 Y42 = 32.33 ' F 0.08X1 + O.OllX.6 0.30 {21.68
(1.10) (0.54)
8 Y42 = 46 .54 + 0.07X1 0.22 119.78
(1:06)
9 Y42 = 62.23 + 0.02X2 0.13 [20.81
(0589
10 Y42 = 66.90 + 0.06X3 0.06 [21.68
(0.50)
11 Y42 = 58.68 + 0.07X4 0.26 [19.30
(1.11)
12 Y42 = 75.54 + O.OZXS 0.03 {22.07
(0.43)
13 Y42 = 69.61 + 0.03X6 0.04 21,87
(0.40)
4

NNIULNE ¢
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AUNI S LAUDADDY R2 SEE
Person trips:
Y51 = ~174.88 + 0.69Xl - 0.17X2 + 1.60X3 0.99! 65.55
(7.91) (=1.11) (1.08)
Y51 = 47048 + 0.70X1 - 0.17X2 0.99 67.39
(7483)" © (~1.08)
Y51 = ~212,08 + 0.61Xl + 1.59X3 0.99: 67.45
(18.71)-.3(0.66)
Y51 = -407.51 + 0.97X.2 + 2.52X3 0.84 305.37
(3.74) (0.37)
Y51 = 9.52 + 0.61Xl 0.99 68.26
(18.99)
Y51 = ~57390—=F 0.99X2 0.83 270.37
(4.42)
Y51 = ~-70.26 + 8.05X3 0.08 629.89
(0..58)
MUY LR 2 2104929 BU L Tumneas t-value
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éunqstﬁﬁnmaau R2 SEE
Vehicle trips:
Y52 = -272.93 + 0.25X1 + 0.10X2 + 1.71X3 0.95 104 .52
(1430) (0.41) (0.73)
Y52 = -34 200+ 0.26X1 - O.lOX2 0.94 96 .00
(2.04) (0.45)
Y52 = -249°,95 4+ 0.30X1 + 1.72X3 0.95 89.03
6.97) (0.86)
Y52 = -356.33 + 0.51X2 - 2.05X3 0.88 137 .48
(437 (0.66)
Y52 = ~10.48 + 0.31X1 0.94 86.03
(7.66)
qu = -72.78 + 0.53X2 0.86 127.49
(5.02)
Y52 = -178.93/+ 4.95X3 0.11 323.45
(0. 70) :

WU LWRE)

' .
arutulg LS SeAngas t-value
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fsn4f 1.6 éynﬂsLﬁunmnavuvvLéﬁmsqgaqﬁanssuﬂssLnﬂ
"AaTnLsA
~ 2
ANNI T LIUDADNDY R SEE
Person trips:
Y61 = 17.35+ 0.42X1 0.89 7.44
(2.80)
Y61 = L8462 + 0.20X2 0.48 15.85
(0.94)
Y61 = =42.18 + 1.01X3 0.97 4.07
(5.28)
Vehiele trips:
Y62 = 2.99 + 0.19X1 0.98 1.28
(7.38)
Y62 = 12.13 + 0.12X2 0490 3.00
(2.97)
Y62 = =19.54 + Q.42X3 0.92 2.74
(3.26)

PHID LG 2

1
squlur9 L HuLumivas t-value
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ansaef 2.7 Aumsiduonnouuuutdunssgasfanssudssian tduddenanwe
Aun1s L Aunanoy R2 SEE
Person trips:
Y71 = -38.49 + 1.5QX1 + O.OOSX2 0.89 13.82
(3.16) (0.29)
Y71 = -54 .56 + 1.28X1 + 0.002X3 0.91 12.66
(3.14) (0:62)
Y71 = 61.01 + 0.08X2 - 0.009X3 0.71 22.55
(1.47) (=1.21)
Y71 = =38.64 ¥ 1.21X1 0.88 10.15
(8.90)
Y71 = 24,56 + 0.04X2 0.26 25,55
(0.88)y
Y71 = 54,06/ - 0.001X3 0.002 29.43
(=0-.14)
Vehicle £xips:-
Y72 = _-28.33 + 0.77X1 A 0.002X2 0.81 12.31
(1.82) (C.08)
Y72 = -37.00 + 0.82X1 + 0.0009X3 0.83 11.80
(2.16) (0.30)
Y72 = 37104 '+ 0.05X2 - O.OO6X3 0.60 18.03
(1.15) (-1.0D)
Y72 = 28723 7+ 0.78X1 0.81 8.74
(2.92)
= 20
Y72 13.79 + 0.02X2 0. 18.02
(0.63)
Y72 = 32.76 - 0.001X3 0.03 19.85
(-0.21)

VNI LYR

1
a1ululs s iU dumigas t-value
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.8 ANNI5 LAUNANDULUVU L SURTIUURIAIN Geometric form

gpefianssudsz Lan "wilheun

ANNNT L AUDANOY Rr? SEE
Person trips:
lnY11 = =4.06 + 1.87 lnXl - 0463 lnX3 0.74 0.26
(3.05) (=1.46) '
1nY11 = =5.71 +1.53 1nX1 0.57 0.28
¢2,32)
1nY11 = =2.83+ 0.99 lnX2 0.95 0.18
(4419)
lnY11 = 5.32 -~ 0414 lnX3 0.01 0.43
(=0:20)
Vehicke “trips:
thl2 = =4.60 + 1.79 1nX1 - 0.53 lnX3 0.72 0.25
(3.03) (-1.28)
1nY12 = -6.00 + 1.51 1nX1 0.59 0.26
(2.46)
1nY12 =1=3.18-+ 0.97 lan 0.95 0.17
(4.35)
1nY12 = 4,39 - 0.07'1nX3 0:002 0.41
(-0.10)

NHIULAR) &

1]
10919491 2 L TuAneos t-value
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@unﬁsséunmnauuuvtéumsquﬂaaaqn Geometric form

gasfianssudsztan v LL?Jﬂ‘ﬁWﬂﬁiS’Q LT

Aunn s LAUDNDDY r? SEE
Person trips:
1riY21 = 1,16 + 0.70 1nX1 0.97 0.04
(S.81)
lnY21 = 34 S50 27 lnX2 0.29 0.32
(0.64)
1nY21 = 0.39/+ 0.22 lnX3 0.64 0.04
(1. 30)
lnY21 = 9,12 ~.1.10 lnX.4 0.94 0.009
(=4.07)
Vehicle trips:
lnY22 = 1".88 -+ 0 .56 1nX1 0.97 0.0%
(610
lnY22 = 2.57 + 0.31 lnX2 0.56 0.21
(1.15)
ln‘Y22 = 1597 + 124 lnX3 088 0.11
(2.76)
lnY22 = “68%9 1w~ 18i 12 lnX4 0473 0.16
(=1.65)

VHIULNR 2

1]
arulurer FuitBumigas t-value
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form

ANNI T L AUDANDY R? | sEE
Person trips:
lnY31 = -1.88 + 2.13 lnX1 + 1.13 1nX2 + 0.31 lnX3 0.90 [0.31
(3.53) (1.59) (0.32)
1nY31 = -0.51 + 2.18 lnX1 - 1.15 lnX2 0.89 |0.26
(4 .44%) (-1.93)
lnY31 = =11,17 + 2.19 lnX1 +-0 740 lnX3 0.77 (0.38
(2.97) (0.33)
1nY31 = 9,52 = 1.29 1nX2 +51.14 lnX3 0.26 |0.68
(-0.83) (0.55)
lnY31 = -9.51 + 2,25 1nX1 0.76 |]0.34
(3.51)
1nY31 = 15,85~ 1.35 lnX2 0.19 {0.62
(-0.96)
lnY31 = -0.70-+ 1.28 lnX3 0.09 | 0.65
(0.64)

1
VAL UR 2 aululatau L duAngas t-value
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ANNT S L AN DANDULUU LAURS ALURea1 N Geometric form

v - R
2a9RfanssNUsz LN " FIHIINITUAY LF’I?’ENWSJ"

(Ma)

ANNI T LAUDADDY r? | sEE
Vehicle trips:

lnY32 = -2.00 + 1,75 lnXl =1.33 lnX2 + 0.98 lnX3 0.89 0.31

' (2490) (-1.82) (1.00)

lnY32 = 2.36 + 1.89 lnX1 -11.37 lnX2 0.83 {0.31
(3.23) (=1.93)

lnY32 = 12,914+ 1.82 thl + 1.09 lnX3 0.70 [0.42
(0.63) (0.82)

lnY32 = 7.36 - 1.46 lan + 1.67 lnX3 0.43 10.58

1nY3é = -8.43 + 1,98 lnX1 0.63 |0.40
(2.63)

lFlY32 = 16.60/ - 1.55 lnXéj 0.26 10,57
(-1.19)

1nY32 = -4,22 471282 lnX3 0.20 1 0.59
(1.0

VNI DLUE ¢

1
aruluae L &L Sumao9 t-value
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pavnef .11 AuN1 5 L AUDANDUWUU LAUR S IuURean Geometric form

gasfansysudseLan "sauA

ANNIy LAUDANOY R2 SEE
Person trips:
lny,, = 7.83. —"0.87 1nX "+ 0.59 1nX, + 0.81 | 0.44
(-=0.66) (1.43)
Q23 1nx5 -/0.08 1nX,
(0.61) (=0.23)
Iny,, = 15416 4 4 /81 InX, = 0.79 1nX, +|0.84 | 0.28
=1[47) (-1.19)
1.14 lnX4
(2.03)
lny,, = 3.44 -20.07 1aX, =0.36 1nX, 0.68 | 0.33
(~0..13) (-1.50)
lny,, = -0.87 + 0.51 InX, & 0,40 Ini> 0.53 | 0.40
(0.81) (0.92)
lny,, = 0.15 + 0.47 InX, + 0.36 1lnX, 0.46 | 0.43
(0.56) (0.67)
InY,, "= 6.50"'-'0.74 1nX;"+ 0.55 1nX, 0.74 | 0.30
' (-0.82) ¢1.96)
loy, [0 = -0.64 ¥ 0.83 aX; [+ 0.0/ 1nKg 0.45 | 0.43
(1.48) (0.52)
In¥,, = 0.001 + 0.83 1nX; - 0.02 1nX, 0.40 | 0.45
(1.40) (-0.06)
loy,, = -0.17 + 0.83 1lnX, 0.40 | 0.39
B (1.64)

]
vnowvg:  919%u9 L fuLduaneas t-value
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AN 9.11 AumMs LAUDANDULUV LAURS IWURIRN N Geometric form
Po3RanssNUSELAN "SAuAT"  (61D)
v 2
# AN T L AUDNANDY R SEE
10 lnY41 = 0.88 + 0.60 lnX2 0.43 10.38
- (1.75)
11 lnY41 = 1.65 + 0.63 lnX3 0.40 {0.39
' (1.64)
12 lnY41 = 3,11 + 0.34 lnX4 0.68 {0.29
(2788)
13 lnY41 = 4.40 + 0011 lnX5 0.05 |0.49
{0.50)
14 lnY41 = 5,38 - 0.09 lnX6 0.01 |0.50
(-0.25)
Vehicle, trips:
1 lnY42 = 3,60 - 0.12 lnX3 + 0.2, lnX4 — 0.76 {10.31
(=0.13) (0.93)
0.08 lnX5 + 0.05 lnX6
(-0.31) (0.21)
2 lnY42 = 11¢46 = pln 15 lnX1 - 0463 lnX2 +.0.77 lnX4 0.84 |0.18
(-1.45) (-1.48) (2.013)
3 lnY42 = 4,06 - 0,18 lnX2 + 0.28 lnX4 0.68 |0.21
(-0.53) (1.84)
4 lnY42 = 0,68 + 0.42 1nX1 + 0.17 lnX2 0.49 {0.26
(1.02) (0.60)
5 lnY42 = 0.90 + 0.63 lnXl - 0.08 lnX3 0.44 {0.28
(0.73) (-0.19)
wurpiug:  a1ulueeiFuiBuatgas t-value




pasaef .11

161

AUNTT L AUDADOLLUV L AUR s IuUaYa1 N Ceometric form

- « ) L}
gasfianssudssian "gaupa (D)

,ﬁ ANNIT L AUDANDY - 'RZ SEE
6 lnY42 = 4,52 - 0.28 lnX1 + 0.29 1nX4 0.67 0.21
(-0.45) (1.48)
7 lnY42 = 0.99 + 0.55 lnX1 -.0.003 lnX5 0.44 0.28
€151 (~0.02)
8 lnY42 = 0.09 +40458 lnX1 + 0.13 1nX6 0.51 0.26
F1IR70) (0.69)
9 lnY42 = 0.9+ 0 I55 lnX1 0.44 0.24
(1.76)
10 _lnY42 = 2.1 +0.33 1nX2 0.33 0.26
Cr41)
11 lnY42 = 2.90 + 0.28.1nX3 0.19 0.29
' - (0.98)
12 lnY42 = 3.22 + 0.21 lnX4 0.65 0.19
(2.72)
13 1nY'42 = 4.33°= 0,001 lnX5 0.00001 0.32
(-0.007)
14 1nY42 = 3.88 + 0.08 1nX6 0.03 0.32
(0.35)

VNI LB 2

L3
18119 LU itiAieas t-value
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AHN1 T LAUDADBUUUY L AUAT I1URIRI N

229NANTsHUT = LN "wasFTHITUT IN"

162

Geometric form

AN s LAUDADNOY R? | sEE
Person trips:

lnY51 = 2.93 + 0.94 lnX1 —‘0.21‘lnX2 - 0.28 lnX3 0.98 [0.15
(8.06) (~-0.56) (~0.54)

lnY51 = 1.63 + 0.90 lnXl ~ 0.18 lnX2 0.97 (0.13
(304535) (-0.56)

lnY51 = 2.23 +0.80 lnX1 -1 0.24 l_nX2 0.97 |10.13
(8.29) (=1.98)

lnY51 = =2.01+ 1,11 lnX2 #+ 0,23 lnX3 0.86 |0.31
(3479) (022D

lani = 1.17 + 0.78 lnX1 0.97 10.12
(9.43)

1nY51 = =1.05:41.14 lnX2 0.85]0.27
(4.88)

1nY51 = =2,47 + 1,87 lnX3 0.1710.65
(0.91)

vwroiug s aneluai T Bunigas t-value
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ANsnef $.12 ANNTY LAUDANDULUL L AURssuUasa1n Geometric form
goafanssuUse 1an "HosdAIusTINT  (FD)
Aunny L AUDnnoY R | sEE
Vehicle trips:
lnY52 -3.72 + 0.82 lnX1 + 0.09 lnX2 + 0.65 lan 0.98 [0.15
(03 (0.24) (1.25)
lnY52 -1.00 + 0.8 lnX1 +.0.17 1nX2 0.96 [0.17
(2 .44) (0.41)
1nY,, -3.68 + 0489/1a¥, + 0L67 InX, 0.97 |0.13
(9.22) (1.51)
lnY52 -4,31 + 1.06 lnX2 + 0.62 1nX3 0.89 |0.27
(4.15) (0.66)
lnY52 -0.74 + 0.94 lnX1 0.96 |0.15
(9.09)
lnY52 -1.69+ 1,13 lan 0.87 |10.25
(5.23)
lnY52 4,75 + 2.19 lnX3 0.24 [0.61
(1.13)

VUYL !

[ ]
aqeu29 L 3 L SuAnwas t-value




ioy

pasnafl €.13 ANNT T L AUDANDUUUU L AURs SiURIaNn Geometric form

gosfhanssudszLan "AIATnLsA"

AuNY L AUDADNDY R SEE
Person trips:
InY,, = 0220+ 0483 inXy 1 0.90 0.09
(2.95)
Y., = 2. 11./4/0.65 1nX, 0.42 0.20
(0.87)
Y, , = 4296 ++1:53 1nXg 0.95 0.06
(4460)
Vehicle*trips:
Y, = -l00-%0.89 dnX; 0.98 0.04
(7.28)
n¥,, = 0.18 + 0.64 1nX, 0.85 0.10
“(2.37)
In¥4,0 |91 ~3696 ¢y by55-InXy 0.94 0.07
(3.97)

1
VNI LR & aulursLdu i Bumieos t-value
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ansnafl 1.14 AN 5 L AU DANDUUUU L AUAS IWURIRIN Geometric form

gg4afanssudsz1an " duuenant

AunIs LAunanoY R2 SEE
Person trips:
lny,, = -4.33 + 1.66 1nX, + 0.17 1nX, 0.95 |0.24
(2.36) (0.71)
oy, = -9.32%%.2.18 1nX;50.44 1nX, 0.97 |0.18
(5.86) (1.32)
InY,, = 7,00 5072 1n¥, - 0.88 1nX, 0.86 |0.41
(2.43) (-=1.13)
™ = _ufeeffolod 1nx, 0.92 |o0.21
€4.92)
ln¥,, = 0.09 # 0.59 1nXj 0.67 |0.43
('2:05)
ny,, = 5.11 ~40217 1nXg 0.008 {0.76
(=0.12)
Vehicle trips:
1nY7é = -5.72 + 1.88 1nX; + 0.15 1nX, 0.89 [0.39
(1 64) (0. 38)
n¥,, = -11.07 + 2.37 1nX; + 0.48 InX, 0.93 |0.32
(3.59) {0.81)
ny_, | = 6.60 % 0:76"1nX, -10%93 1nx, 0.77 [0.57
(1.84) (-0.86)
lny,, = -6.19 + 2.20 1nX, 0.88 [0.29
(3.86)
lny,, = -0.71 + 0.63 1nX, 0.61 }0.53
(1.77)
ny,, = 4.61 - 0.18 1nX, 0.007 | 0.84
(-0.12)

)
vruvg:  a1elusiFuiBumieos t-value




mqsqaﬁ 4.15
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AN L AUDANDULUU LAWRS JuUasann Exponential form

gaqefanssudss Lan "wlngque

(-0.25)

ANNIS L AUDANDY R? SEE
Person trips:
lnYl1 = 3.17 + 0.002X1 - 0.001X3 0.78 0.23
@07 (-1.41)
lnYll = 2.89 + 0.002Xl 0.61 0.27
(2.47)
1nY11 = 3.62 + 0.0005X2 0.95 0.17
(4.64)
lnYll = 4,65 = 0.0004X3 0.03 0.43
=0.32)
Vehicle trips:
lnY12 = 2.71 + O.OOZX1 - 0.00°9X3 0.77 0.23
(2. (-1.27)
lnY12 = 2,474+ 0.002X1 0.63 0.25
(2.67)
lnY12 = 3.17 + O.OOOSXZ 0.95 0.17
(4.64)
lnle = 4,13 - 0.0003X3 0.01 0.41

VHIYLUE) ©

1
aedua gL Tu i dumeos t-value
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1519l $.16 Aun1y LANAADOUWUY LAWAS suUasann Exponential form

gasfanssudsz L an " anTRANAT s s usHn

AN s LAUNRDoY R? SEE
Person trips:
InY,, = 5,04+ 0.0009X1 0.95 0.08
(4.43)
InY,, = 5,49 4/0.00001%, 0.37 0.30
(0.56)
In¥,, = ¥ Y F O.OOOSX3 0.62 0.04
(1.35)
lnY21 = 1.65 -~ 0.0004X4 0.94 0.009
(-3:68) -
Vehicle trips:
1n.Y22 = 499 & 0.0008X1 0.96 0.02
(1.42) |
InY,, = 5.28 + 0.00001X, 0.65 0.18
(1,35Y |
\ )i
L 40 ' 87 1
lnY22 4,40+ 0.003X3 i 0.: 0.11
(2.86) :
;
lnY22 = 13.49= 0.002X4 g 0.73 0.16
(-1.00) !

L}
vunoivig;.  a1elur9t®uiBuanges t-value
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A1y afl 9.17 AUNN T LAUNANBULUY L AURS AUs94a1n Exponential form

-« »
gasfanssuUsz LaNn " AUOINIS AL LAS DA

AuN1 s LANDANDY R2 SEE
Person trips:

ln¥,, = 3.98 + 0.003%, - 0,0007X, % 0.003K, 0.90 |0.31
CanD (~1.65) (0.53)

Iny, = 4.43 +06003%{ = 0.0007%, 0.89 | 0.27
¢ .78) (21.91)

Iny,, = 2.664 040034 + 0.004X, 0.78 | 0.37
(3.45) (0.60)

n¥,, = 6.03 - 0.0007X, % 0.005X, 0.20| 0.71
(<0.72) (0.39),

1n§31 = 3.24 + 0.003%, 0.75] 0.34
(3.80)

lny, = 7.054 0.0007X, 0.15] 0.63
(-0.82)

In¥y, = 4.69 + 0007, 0.08| 0.66
(0.59)

'
ysnuwvg:  nuluaetTuiBumgos t-value
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masnfl 9.17 ANNT 5 LAUDANDUUUU L AUAS Ua9a1n Exponential form

-~ L]
gasfanssuUss Lan "squaqwq'su,azm§m€{w' (s12)

AuNNT L AUNADOY R SEE

Vehicle trips:

lnY32 = 3.27 + 0.002X1 - O.OOOSX2 + 0.006X3 0.88 |0.32.

"2.66Y" (-1.82). (1.03)

lny,, = 4.31 + 04002% ;£ /0.0008%, 0.82 [0.32
2" 69) (=1.84)

InY,, = 1.70 #0,002%; +0.008X, . 0.70 |0.42

: (2403) (1.06)

1ny32 = 4.99 - 040008X, + 0.008X, 0.36 {0.61
(-0.96) (0713

InY,, = 2.85+ 0.002X; 0.60 |0.42
(2.05)

In¥,, = 6.5%4 0.0009%, : 0.24 {0.58
(-1.14)

In¥,, = 3.40 + 0.0IX, 0.18 1 0.60
(0.93)

]
vnoivg:  aneluasiduiBuaiges t-value
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mrsnafl 1.18 AuNns L AUDANaUUUU LAuRs suUReann Exponential form

pofanssuUsELaN TSAUAN "

AuNI Y L AUNAnOY : R SEE

Person trips:

1nY41 =  4.96 - 0.004X3 ¥ 0.004X4 - 0.76 0.50
(-0.04) (0.09)

O.OQQX5 - O.OOZX6

(-0.,06) (=0.04)

1nY, = 4.620% 00001%, =10.0001%, + 0.63 | 0.43
(=0 [37) 2°¢-0:17)
0.004X,
(1437)
Iy, = 4.18% 0.0001X, +0.002%, 0.61 | 0.37
(0206) (11424)
Iny,, = 3.77 + 0.001%; + 0.0005x, 0.51 | 0.41
(0.61) (0.94)
Iny,, = 4.05+ 0.0009X, + 0.002X, 0.41 | 0.45
(0.42) (0.56)
InY, | = ghpd7) 7-06001%; g 0-003X,, 0.63 | 0.35
(=0 146) | (1.41)
| 1ny, . = .3.70 = 0.002X + 0.001x; 0.54 | 0.40
(-1.47) (1.17)
InY,, = 3.88 - 0.002X; + 0.0004Xg 0.34 | 0.48
(=1.24)  (0.24)
InY,, = 4.03+ 0.002%, 0.32 | 0.42
(1.43)

1
vnoiug:  agflulstduiduaiges t-value



quﬁaﬁ 9.18

AN T L AUDANDUUUU LAWRSIURIan n Exponential form

. -~ «~
pasfianssudssLan “sauA"  (510)

171

A AuNIs L AUDANOY RZ SEE

10 _lnY41 = 4,33 + 0.0006X2 0.33 0.41
My, 3,59

11 lnY41 = 4.26 + 0.003X3 0.37 0.40
(3".34)

12 lnYél = 4 220+ O'OOBXA 0.60 0.32
(2.88)

13 lnY41 = 4,76 + O.OQO7X5 0.12 0.47
(0.71)

14 lnY41 = 4.85 + 0.0002X6 0.002} 0.50
(O1¥2)

Vehicle trips:

1 lnYAZ = 4,03 - O.OOlX3 + 0.002X4 + 0.43 0.48

(-0.01) (0.05)
0.00008X5 + 0.00007X6
(0.002) (0.001)

2 lnY42 = 3.66 + O.OOlX1 + 0.0002X2_ 0.42 0.28
(0.89) (0.55)

3 lnY42 =. 3.77 + 0.001X1 - 0.0004X3 0.33 0.30
(0.70) (-0.17)

4 lnY42 = 3.91 + 0.0003X1 + O.OOIX4 0.397 0.29

(0.17) (0.57)

NUID LB .

aulurs LB LSumAngas t-value
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F1s19f 9.18  Aunas Launanounuv L duRssuURsann Exponential form

2a4RANsSNUTZLAN "sAUAT"  (RD)

4 AuNT s L AunnooY R2 SEE

5 | Iny,, = 3.64 +0.001X; + 0.0004x, 0.42 | 0.28
¢1.05) (Ore7Y

6 | 1ny,, = 3.53°% 0¢001X, + 0.0007X 0.43 | 0.28
(1'.06) IRV o

7 | 1ny,, = 3178 #00001%, 0.32 | 0.26
(1415)

8 | 1nY,, = 4.04 +/0.0003%, 0.21 | 0.28
(0.99)

9 | iny,, = 4.09 +/0.00ix, 0.13 | 0.30
(0-60)

10 | 1ny,, = (3398/% 0.00IX, 0.38 | 0.25

: (1:23) ‘

11 | 1ny,, = 4,28 + 0.0003%, 0.04 | 0.31
(0.46)

12 | 1ny,, (% |4.18 +]0,0005%, 0.06 | 0.31
(0.48)

)
HUHID LG . aelurssFuitBuaneas t-value
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. ansnefl 1,19 dunasidunanouuuuidumsuursann Exponential form

999NAaNsSHNUS E LAN "NDITAITUT IN"

AuNIs L AUDADDY R2 SEE
Person trips:

lnY51 = 5.06 + O.OOOSX1 - 0.0002X2 -+ O.OOSX3 0.98 [0.15
. 0d) (-0.57) (1.48)

lnY51 = 5.75 + 0.0008Xl - 0.0002X2 0.95 (0.18
(4402) (-0.48)

lnY51 = 5,01 + O.OOO6X1 + O.OOSX3 ‘ 0.97 |0.14
8.87) (1.59) |

1n.Y51 = 4,81 + 0.001X2 <+ 0.006X_3 0.82 |0.35
(3.37) (0.76)

lnY51 = 5,70 + 0.0007X1 0.951]0.16
(9.30)

1nY51 .= 5.63 + 0.001X2 ’ 0.79 1 0.33
(3.66)

1nY51 = ~8 A5 H O.OlX3 0.14| 0.66
(0.69)

)
vunowvn:  aneduiaiBuiBumigas t-value
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pasaefl 9.19 A1NAT L AUDANOUUUY L Aums wUasann Exponential form

- L}
2o4fanssudsz Lan "UaIARIIUTIN" {Rd)

AUNIS L AUDANDY R SEE

Vehicle trips:t

InY., = 3.97 + 0.0006%; + o.Oooo3x2 +0.007%4| 0.99° |0.06
(75D (O (5.18)

In¥,, = 5.01 + 0¢0006X % 0.00004X, 0.94 [0.20
@ .2¢6) ¢0.09)

InY,, = 3.97 % 040006X +0.007%, ' 0.96- |0.05
(24 .82) (6.22)

In¥,, = 3.77 + 0.001X, +0.008X, 0.90 |0.26
(4.53) D

In¥,, = 5.02 + 0.0006X; 0.94 |0.17
(7.50)

InY,, = 4.924% 0.001X, : . 0.83 [0.29
(4.16)

In¥,, = 4.11 +0:01x, 0.21 |0.62
(0.74)

t
wunotvig s anglua duLltuAgas t-value
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masnafl 9.20 AuN1T LA DANDULUUL AURIs IUReIRN Exponential form

gasfanssudssian "HaTnisaAar

Aun1s L AunAnay R2 SEE
Person trips:
lnY61 =3 Ot O.OOSX1 0.85 0.10
(2.42)
lnY61 =4 LEOH FF 0.002X2 0.43 0.20
l (0.74)
r
| lnY61 = 4 2898, 4 0.01X3 0.95 0.06
(3.55)
Vehicle “trips:
lnY62 = 2461+ O.OOSX1 0.99 0.02
(13.33)
lnY62 = 2,90 + 0.003X2 : 0.85 0.10
(2.15)
! | Y
i l lnY62 = 1.94 + O.OlX3 0.95 0.06 |
; @ (3.47)

'
vnoivg:  anoluestiuitumeos t-value
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ansaefl §.21  AunnsidunaAnouuuu L dumssudasaan Exponential form

goefanssuUsz Lan " AuuFYN N

AuNNS LAUDANDY R2 SEE
Person trips:
lnY71 = L2 0.03X1 + 0.0006X2 0.98 0.16
(55 45) (1.88)
lnY71 = 0.78 + 0.03X1 -+ 0.00008X3 0.99 0.09
(10.34) ' (3.48)
1nY71 = 3,91 + 0.002X2 - 0.002X3 0.88 0.37
(2.24) (-1.63)
lnY71 = 1.5 + 0.03X1 0.91 0.23
¢4.26)
lnY7l = 3.00+ 0.001X2 0.45 0.56
(1,01
1nY71 = 3.71 - 0.000007X3 0.0008] 0.76
(-0.04)

1
wuaoiug - anudua st RuiBuAtees t-value
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pnsaefl €.21  dunns idunanosuuuLdums sudasann Exponential form

pashanssudsz Lan " AU (510)
-~ 2
ANNI S L AUNANDY R SEE
Vehicle trips:
lnY,, = 0., 72w+ 0,03%, + 0+0006X, 0.94 0.30
(2.91) (1.00)
lnY72 = -0.09 + 0.04Xl - O.OOOO9X3 0.96 0.23
(5:40) (1.53)
1nY72 = 3833 + 0.003X2 - 0.0002X3 0.80 0.53
L (0.23).. (=1.14)
1nY72 = 0.71 + 0.03X1 0.88 0.29
{3+.38)
lnY72 = 2.36 +-0.001X2 0.41 0.65
(0.87)
1nY72 = 3.12 - 0.000008X3 0.0007 0.85
(-0.04)

1]
AEIREY ST % useey trvalue
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